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P1=50kN
1 P_= P xc0s60°=25kN
P = P xsin60° =43 3kN
60° ’
x IV =P —P,=433kN - 0kN =—16.7kN

33. 7"  zH=P =25kN

P,=60kN s.0=tan™ (%) = tan”' (%j =-33.7°
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R=30. 1kN &= \/(ZH Y+ (V) = \/(—16.7kN)2 +(25kN)? =30.1kN
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P,=40kN P | —P1Xc0s30°=—34.6kN | P:Xsin30°=20N
P:=50kN 3¢ P; ~Pe=-50kN
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6' 7 Ps -Ps=-30kN
R=85. 2kN > > H=-84.6kN > V=-10kN
Ps=30kN

© R=\(ZH) +(ZV ) = /(-84.6kN > + (~10kN)> =85.2kN

sO=tan" (Z—V} =tan" (_—10] =6.7°
>H —-84.6
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sin120° sin40° sin20°

P = ,50 x sin40° = 37.1kN
¥ sinl20°

’

R ¥ T sin120°

xsin20°=19.7kN

/" Px'=37.1kN



